
Startkarte meine Lösung: meine Lösung:

ich lese: ich lese: ich lese:

12 + 9 56 + 6 83 - 7

= 21 = 62
Ich beginne

das Spiel.

meine Lösung: meine Lösung: meine Lösung:

ich lese: ich lese: ich lese:

25 + 8 5 • 5 2 • 7

= 33 = 25= 76

meine Lösung: meine Lösung: meine Lösung:

ich lese: ich lese: ich lese:

10 • 6 23 + 9 41 + 10

= 60 = 32= 14



meine Lösung: meine Lösung: meine Lösung:

ich lese: ich lese: ich lese:

95 - 9 42 - 8 6 • 2

= 86 = 34= 51

meine Lösung: meine Lösung: meine Lösung:

ich lese: ich lese: ich lese:

3 • 5 6 • 5 60 - 8

= 15 = 30= 12

meine Lösung: meine Lösung: meine Lösung:

ich lese: ich lese: ich lese:

48 + 8 18 + 4 75 - 6

= 56 = 22= 52



meine Lösung: meine Lösung: meine Lösung:

ich lese: ich lese: ich lese:

2 • 8 5 • 2 10 • 10

= 16 = 10= 69

meine Lösung: meine Lösung: meine Lösung:

ich lese: ich lese: ich lese:

Prima! Wir

haben alles

geschafft!

= 100


